OSRG-S FBHERSHES i
1T, BAREESHRRE

S HTllidE (D

(HI1E):60 o¢h &L )

—. H—H. (129)

520-20= 440+50= 780-60= 300+500=

690-500= 640-140= 1000+2000= 1000-200=

900+400= 1000-500= 780-70= 470-300=

. L (20 9D)

L. —FEma( M—B—hEma( M—F.

2. — B2 3N . 8 NER 6 M—ERRIXNEBEC ).

3. 58909 tHEPAIM NS BIR( )FA( ),.2097 IEEEEN=1 D BI2

( )o

4.5038 B( M ESMUR( L3 E(  ALEZFRR( )o

5. — P UREL FRER 6 MMILER 5 HRFBAL AR 0, XMNER( )sEF( )o
6. RARPIER( ) &IIRAEE( ) EliEE( ).

7.7E 100, 990, 1006, 870, 5000, 1678, 370 hERAMEHR/NGFIZ( )RR
1000 BIRPELE( );{E 100 F1 1000 Z[EIRYEE ( )o

8. A 7. 0. 0. 5AEMAIIE P &ENNUERER( ) EABEAEZR( ).

=, . (EFAmE “ V7 ERRE “X” ) (10 9)

1. 809 2 8 1NEF 9 MTERkEY. ( )

2. —FEM@EA 100 1M,

3. R R =&t &/ O Pa > 10,
4. R B AELR RS

5. 4060 EEEIFZEIN,

. &—i%. 5—5. (8%)

L EHTESE.

N AN SN /S
N— Nt N N

3769 1EE 6007 1/E

5900 JE/E 5028 1E4E

2. BHTEBEL.

“FE—TNEE =5
NEEASE ~NFI\BEE

Fiv Ee—t. (20 99)
I.EOEEJ: rEg <, (69)

ZOOOIOOO 6350524 5340445
523905679 500604998 300203009

%S i, 5, EE, EIRTFHATD
ST, AEESRESE



OSRG-S FBHERSHES i
ST, AEREESRERR

2. HEHEBA. (8 3)

(1)2355 989 978 3255 (2)6000 4567 5897 5987
C »C »C »C ) € xXC xXC Xt )

3. fE|  |HEEFIEMNEBT. (67)

534 = G5 01 =484 | 560 780

6200 390 000 =5103 53 92<_5681

N~ AL (12 99)

1.2850 290, 295, (). C ) (C )

2.4700, 4750, 4800, ( ). () C ).
3.3500, 4000, 4500, ( ). () C )
4.1090, 2090, 3090, ( ). () C ).

£ R (18 99)
1. BT S OFEE(6 2)

BT 3107T A o R
FiAR. Ly, " 90 7.

2. FERMERBESFPRNIMEUN TR, (129)

BFR X AR S|
HE IR 1600 700 800
(DHANEU— a2/ DR? (3) LB DS D187
)P ER N 2 2 R? (IMRERERH A AZUFRIRE?

bS e, ik, ES, MR
=Y IS TH, BENEESREE



LM --- SN BEERPES
e TE, BIREREESMERIR

—. 500 490 720 800 190 500 3000 800 1300 500 710 170

—. 1. 10 10 2. 3806 3. 8908 8910 2098, 2099, 2100 4. {4 F —+ 34+ 5. 6005
AFSAE 6. 9999 10000 1 7. 5100 990, 1006 990, 870, 370 8. 5007 7500

= 1. X 2.4 3. X 4 X 5 X

M, 1. =FtEsxth "F5t AThE
AFE=+/\ 2. 2019 7001 405 6800
AL <> > <>«

2. (1)3255>2355>989>978
(2)4567<5897<5987<6000

3. 174 579 479 679 679 075

75 1. 300 305 310 2. 4850 4900 4950
3. 5000 5500 6000 4. 4090 5090 6090
+. 1. 310-90=220(5T)

2. (1)1600+800=2400(1F)

(2)1600-700=900(4&)

(3)1600-800=800(#)

() B FR=ARIE— N ERMNFUH—HB S D12700+800=1500(F)

5 ST, HEREES AR





